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Mike and Sandy are two woodworkers who both make tables and chairs. In one

month, Mike can make 4 tables or 20 chairs, where Sandy can make 6 tables or 18

chairs. Given this, we know that the opportunity cost of 1 chair is
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1/5 table for Mike and 1/3 table for Sandy.
1/5 table for Mike and 3 tables for Sandy.
5 tables for Mike and 1/3 table for Sandy.
5 tables for Mike and 3 tables for Sandy.

For a good that is a luxury, demand

tends to be inelastic.

tends to be elastic.

has unit elasticity.

cannot be represented by a demand curve in the usual way.

If the demand for textbooks is inelastic, then a decrease in the price of textbooks

will
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increase total revenue of textbook sellers.

decrease total revenue of textbook sellers.

not change total revenue of textbook sellers.

There is not enough information to answer this question.

If the government wants to reduce smoking, it should impose a tax on
buyers of cigarettes.

sellers of cigarettes.

either buyers or sellers of cigarettes.

whichever side of the market is less elastic.

If a binding price ceiling is imposed on the baby formula market, then
the quantity of baby formula demanded will increase.

the quantity of baby formula supplied will decrease.

a shortage of baby formula will develop.

All of the above are correct.

Suppose that the labor market and all output markets are perfectly competitive.

When the labor market is in equilibrium, the wage rate will:

A

equal the marginal revenue product of labor.
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B. be less than the marginal revenue product of labor.
~ C. be greater than the marginal revenue product of labor.

D. None of the above is necessarily correct.

7. Consider a market in which high quality and low quality television sets are sold.
Before consumers make a purchase, they do not know the quality of the sets, but
the sellers do know. As compared to a situation where both consumers and sellers
know the quality of the sets, this situation would

increase the fraction of high quality sets sold.

increase the fraction of low quality sets sold.

cause no change in the ratio of low to high quality sets sold.
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cause the average price of goods sold to rise.

A dominant strategy can best be described as

a strategy taken by a dominant firm.

the strategy taken by a firm in order to dominate its rivals.

a strategy that is optimal for a player no matter what an opponent does.
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a strategy that leaves every player in a game better off.

9. John Brown's utility of income function is U = log(I+1), where I represents
income. From this information you can say that

A. John Brown is risk neutral.

B. John Brown is risk loving.

C. John Brown is risk averse.

D. we need more information before we can determine John Brown's preference for
risk.

. The marginal rate of substitution
varies along an indifference curve if the curve is bowed inward.
is constant along an indifference curve if the curve is a straight line.
is greater when a consumer has more of two goods rather than less of two goods.
Both A and B are correct.
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1. GNP vs.GDP
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